Grade 3 | Math

Multiplication Word Problems

1. A truck will hold 3 tonnes of sand. If it carries 5 loads to a building site, what is the
total weight transported?

2. A farmer plants potatoes in rows of 23 plants. If he has 6 rows, how many plants is
this?

3. James’s bus journey to and from school each day totals 6 km. He went to school for
20 days in July. How many km did he travel in that month?

4. William has 8 pencils. Bill has 3 times as many pencils as Jim. How many pencils
does Bill have?

Each car has 5 tires. There are 18 cars. How many tires are there altogether?
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